
Ironmaster, LLC    21828 87th Ave SE, Unit E    Woodinville, WA 98072 
Ph: 800-533-3339    Fax: 425-483-2868   www.ironmaster.com 

 

Assembly & Operating Instructions 
 Ironmaster Organizer 

 
Congratulations on your purchase of this fine Ironmaster product.  For any technical questions or support 
please contact us at 1-800-533-3339.  Be sure to read and understand the operating instructions.   
 
Item List: 

Part # Part Name Description Qty 

1 BASE LEG Square tube with rubber end caps 2 

2 BASE CENTER TUBE Square tube with flat brackets welded on each end 1 

3A TOP SPINE TUBE Long rectangular tube with welded hooks 1 

3B LOW SPINE TUBE Long rectangular tube with welded collect tube 1 

4 ALLEN HEAD BOLTS M8 x 12 mm bolts 3 

5 NUTS M10 Hex lock nuts 6 

6 BOLTS M10 x 70 mm bolts 6 

7 WASHERS 
M10 flat washers 6 

M8 flat washers 3 

 
Steps: 

1. To assemble the Organizer, first unpack all components and locate the hardware kit.  
2. Assemble the BASE CENTER TUBE to the two BASE LEGS using four of the M10 bolts, nuts 

and washers.  Washers only go under the Nut – one washer per bolt and nut assembly.  Leave 
Nuts hand tight.   

3. First, assemble the TOP SPINE TUBE and LOW SPINE TUBE together using three of the M8 
allen head bolts and M8 washers. 

4. Then, assemble the SPINE TUBE to the BASE CENTER TUBE using two of the M10 bolts, nuts 
and M10 washers.  Bolts must be inserted from under the bottom side of the BASE CENTER 
TUBE so that the nuts are on the top for floor clearance.  

5. Place base flat on the floor and tighten all the remaining bolts and nuts.  Note:  Nuts have a 
plastic lock inside and will require a wrench on both the head of the bolt and on the nut to 
completely tighten.   

 
Operation: 
The Ironmaster Organizer is designed to hold most of the optional attachments and accessories for the 
Super Bench and IM2000 Self Spotting Machine.  Some misc. items may not fit on the Organizer.  You 
may also find different ways to hang parts on the Organizer depending on personal preferences and 
which attachments you have.  The Calf Block and Freebar Holders fit well on the floor inside the frame 
base.   
 
Note:  Take care with small children since some items can be pulled off and could cause injury. 
 
 
 
 
Warranty Information: 
Your Ironmaster Organizer has a limited 10 year warranty to the original purchaser.  Warranty covers repair or 
replacement for mechanical integrity when used according to the instructions for normal exercise use.  Warranty 
covers in home use only.  Finish and wear items such as rubber and painted surfaces are not covered.  If you need 
warranty service, contact Ironmaster for return instructions and additional terms and conditions.   



 

Ironmaster, LLC    21828 87th Ave SE, Unit E    Woodinville, WA 98072 
Ph: 800-533-3339    Fax: 425-483-2868   www.ironmaster.com 

 

 


